

03/01/2024 08:00 AM | Install Day 1 03/02/2024 06:00 AM | Install Day 2 03/02/2024 06:00 PM | Event 03/03/2024 06:00 AM | Strike PO: Shipping Address: Pendry 690 Newport Center Drive Newport Beach, CA 92660 Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions					
	Shield Covers - burgundy	55	\$7.50	Т	\$412.50
	Truss Cover - Velcro burgundy velvet	4	\$175.00	Т	\$700.00
	Shelves - Shelving Unit Cubbie - Small Off White 58"W x 16"L x 58"H - 13" X 13" X 16" FOR EACH CUBE - Custom Color Upon Request	5	\$225.00	Т	\$1,125.00
	Wall Drape - Black Velvet to create two changing rooms	1	\$2,125.00	Т	\$2,125.00
			Total Additions		\$4,362.50
Entry					
	Perimeter Drape - Burgundy Velvet	1	\$3,250.00	Т	\$3,250.00
	Perimeter Valance - Burgundy Dupioni	1	\$750.00	Т	\$750.00
	SUBRENTAL: Wooden Podium	1	\$300.00	Т	\$300.00
	Custom Sign - Hand Painted	1	\$450.00	Т	\$450.00
			Total Entry		\$4,750.00
Cocktails					
	Perimeter Drape - Burgundy Velvet	1	\$7,250.00	Т	\$7,250.00
	Perimeter Valance - Burgundy Dupioni	1	\$1,550.00	Т	\$1,550.00
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Sconces - Brussels - Crystal & Gold 10"W x 6"L x 16"H	10	\$150.00	T	\$1,500.00
	NEW Brussels Sconces - Crystal & Gold	6	\$225.00	Т	\$1,350.00
	Curved Alcoves Barback (3pcs) 22'L x 10'H with custom printed wallpaper for the backdrop Frame in mahogany wood color (painted) 22'W x 18"L x 10'H	2	\$6,500.00	Т	\$13,000.00

Description		Qtty	Price		Total
	Panels - Flat Arched Alcove with custom printed wallpaper for the backdrop Frame in mahogany wood color (painted) 8'W x 10'H	4	\$1,500.00	Т	\$6,000.00
	New York Bar 8'L - Custom with custom printed wallpaper for the flat fronts Frame in mahogany wood color (painted) 8'W x 30"L x 42"H - Color Change Upon Request	4	\$1,450.00	Т	\$5,800.00
	Custom Mauve Fringe Table Lamps with gold base	4	\$450.00	Т	\$1,800.00
	Console Tables - Florence - Multicolor Whitewash 6' painted mahogany 71"W X 16"L X 31"H - It can be painted with a whitewash finish	2	\$250.00	Т	\$500.00
	London Chesterfield Sofa 02 - Leather 86"W x 40"L x 31"h	4	\$450.00	Т	\$1,800.00
	Coffee Tables - Brussels Gold Leaf 52"W x 22"L x 18"H	2	\$250.00	Т	\$500.00
	Coffee Tables - Montreal Gold Leaf Rectangular 4'W x 2'L x 18"H	2	\$250.00	T	\$500.00
	SUBRENTAL: Velvet Swivel Chair	24	\$350.00	Т	\$8,400.00
	Ottoman Pod 18"D - Mauve w. Fringe in mauve pink 18"RND x 17"H - Cover Color Upon Request	12	\$150.00	Т	\$1,800.00
	Moscow Oval Accent Table - Mirror Top 22"W x 20"H	8	\$100.00	T	\$800.00
	Accent Pillows - Mixed	24	\$45.00	Т	\$1,080.00
W	London Stand Up Table - Dark Wood 36âN Irnd x 42âN IH	10	\$275.00	Т	\$2,750.00
	SUBRENTAL: Cafe Velvet Barstools	14	\$75.00	Т	\$1,050.00
			Total Cocktails		\$57,430.00
Reception					
	Perimeter Drape - Burgundy Stretch Velvet	1	\$9,850.00	Т	\$9,850.00
	Perimeter Drape - NEW Rose Velvet	1	\$8,750.00	Т	\$8,750.00
	Perimeter Valance - Burgundy Dupioni	1	\$950.00	Т	\$950.00
	Perimeter Swag Valance - Burgundy Stretch Velvet	10	\$850.00	Т	\$8,500.00

Description		Qtty	Price		Total
	Ceiling Drape - Burgundy Velvet for each of the booth alcoves and (2) bar areas	10	\$500.00	T	\$5,000.00
	Stage Austrian Drape/Valance - Burgundy Stretch Velvet	1	\$3,200.00	Т	\$3,200.00
	Stage Backdrop - Gold Deco Fans for 32'W x 36"D with gold base	6	\$850.00	Т	\$5,100.00
	SUBRENTAL: Crystal Chandeliers	10	\$325.00	Т	\$3,250.00
	NEW Table Lamp - Gold Base	16	\$250.00	Т	\$4,000.00
	Round Champagne Booth (2pcs) - COVERED 6â\ \ 10"\ 3â\ \ 2"\ 3â\ \ 3"H	8	\$600.00	Т	\$4,800.00
	NEW Covers - Burgundy FLAT Velvet (2pcs)	8	\$850.00	Т	\$6,800.00
	Buenos Aires Sofa (3pcs) - COVERED Sofas - Buenos Aires - 4pc Sectional - Burgundy Velvet Left - Center - Right 10' 2" X 9' 6"	4	\$650.00	T	\$2,600.00
	SUBRENTAL: Coffee Table	4	\$250.00	Т	\$1,000.00
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	4	\$150.00	Т	\$600.00
	SUBRENTAL: Accent Table	4	\$150.00	Т	\$600.00
	SUBRENTAL: Burgundy Club Chair	10	\$285.00	Т	\$2,850.00
West of the second	REUPHOLSTERED - Lyon Club Chair in burgundy velvet with matching fringe base 26"W x 25"L x 28"H	6	\$550.00	Т	\$3,300.00
	Accent Pillows - Mixed burgundy velvet	54	\$35.00	Т	\$1,890.00
	Ottoman Pod 18" - Burgundy w. Fringe	20	\$150.00	Т	\$3,000.00
	Nice Curved Bar End - Light Up - Gold to create (2) 12'L bars 24"W x 5'L x 44"H - Color Upon Request	4	\$850.00	T	\$3,400.00
	Bars - Nice - Straight Light Up 5' - Gold to create (2) 12'L bars 5'W x 24"L x 43"H - Color Change Upon Request	2	\$650.00	Т	\$1,300.00
	Nice Barback - Light Up - Gold 18"W x 8'20"L x 9'H - Color Upon Request	2	\$425.00	T	\$850.00
			Total Reception		\$81,590.00
Services					

Description	Qtty	Price	Total
Installers: Install Friday	12	\$650.00	\$7,800.00
Installers: Install Saturday	12	\$550.00	\$6,600.00
Installers: Strike & Travel	12	\$650.00	\$7,800.00
Trucking: 24'L Box Truck	4	\$550.00 T	\$2,200.00
Trucking: Fuel Surcharge	4	\$85.00 T	\$340.00
Accommodations: Perdiem for (3) Days	13	\$222.00	\$2,886.00
Accommodations: Crew Hotel for (2) nights	7	\$425.00	\$2,975.00
Manager: Onsite for (3) Days	1	\$2,550.00	\$2,550.00
Manager: Layouts & Sourcing Product	1	\$1,250.00	\$1,250.00
Custom Artwork: Hand Painted Details	1	\$850.00	\$850.00
Custom: Decal Printing Costs & Delivery price TBD until final invoice	1	\$2,000.00	\$2,000.00
Certificates: Flame Proofing	1	\$950.00	\$950.00
Supplies: Onsite	1	\$1,200.00	\$1,200.00
SUBRENTAL: Delivery and Pick Ups Lighting	1	\$1,800.00	\$1,800.00
SUBRENTAL: Delivery and Pick Ups	1	\$3,500.00	\$3,500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$148,132.50
	Total Labor/Services/Misc: Wear & Tear (4.00%): Packing (3.00%):		\$44,701.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it			\$5,805.20
riease ready the contract and sign it			\$4,353.90
Notes	Taxes (tax excempt):		\$0.00
		Discounts:	(\$3,002.50)
		Total:	\$199,990.10
		Payments:	(\$0.00)
		Balance:	\$199,990.10